
8

1

2

3

4

5

6

9

11

16

22

24

12

10

25

26

20

17

19

18

21

23

27

28

29

7

15

PR8999-1RF-KEN40M

 M6 x 20 HEX HEAD

 M6 NUT

 M6 x 10 WASHER

 M6 NUT

 M6 x 10 HEX HEAD

 M8 NUT

 M8 x 50 HEX HEAD

 M6 x 10 WASHER

 M6 x 10 HEX HEAD

 M6 x 10 HEX HEAD

 M6 x 10 HEX HEAD

 M12 x 6 HEX LOCK NUT 

 M12  NUT

 M8 NUT

 M6 x 10 WASHER

 M6 NUT

13

14

KENSAL 40  Flat Top Multi-fuel



KENSAL 40  Flat Top Multi-fuel - Parts List

Balloon Part Number Description Drawing Weight
(Kg)

Offered as 
spare part

1 SM14 6" FLUE COLLAR MEC7005 1.5 3

2 SM13 6" FLUE BLANKING PLATE MEC7004 1.25 3

3 SM15 SECONDARY AIR COVER ME7027 0.012 3

4 SM24CE FIRE BRICK CE7122 0.7 3

5 DATA PLATE MOUNT ME500717 0.08
6 4953 CB CASTING SEAL 10x2 SA ROPE - 1500mm CE7484 0.03 3

7 K8.27 CLEAN BURN AIR DUCT CASTING CA7250 11 3

8 SM64CE MAIN GRATE - MK2 CA7179 9.5 3

9 SL28 ASHPAN ASSY MEC7019 1.7 3

10 SM55 ASH PAN TOOL RA7025 0.09 3

11 SM62 LOG RETAINER CASTING CA7111 2.6 3

12 RH MID DOOR CHANNEL RA501466 0.1
13 LH MID DOOR CHANNEL RA501467 0.1
14 KEN40DS SPARES - KENSAL 40 MID DOOR SEAL PAIR MEC8949 0.2 3

15 SM18 HINGE BLOCK STUD FA7000 0.03 3

16 SM10 HINGE BLOCK MEC7001 0.06 3

17 RF.20 HINGE PIN Ø6x50LG HINGE-PIN 6x50 0.01 3

18 KEN40DR 2 DOOR ASSY. MEC7763 17.5 3

19 SM63 RIDDLING TOOL MEC7402 0.4 3

20 YM-C00073 RIDDLING OPERATOR KNOB YC00073 0.04 3

21 SMN35 GRATE OPERATING ROD RA500258 0.1 3

22 SMN38 CENTRE CASTING CA7158 1.6 3

23 SM19 M6 x 70 COACHBOLT M0670CBLT 0.02 3

24 SM2.30 SECONARY AIR CONTROL ASSY MEC7049 1 3

26 SM2.11 SECONDARY AIR DUCT ASSEMBLY MEC7051 3 3

27 SM12 SECONDARY AIR DEFLECTOR RA7157 2.4 3

28 SM26 CLEAN BURN BAFFLE RA7024 6 3

29 FLAT TOP CARCASS MEC7760 59.2


